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Abbreviations

cao
cso
dep
ft
isw
oe
SC

correct answer only
correct solution only
dependent

follow through after error
ignore subsequent working
or equivalent

Special Case

www  without wrong working

Qu. Answers Mark Part Marks
1 (a) 8000 cao 1
(b) 0.08 cao 1
2 1.4 cao 2 M1 1.44(...) or 1.45
3 3 2 | M1 3(20)* + 8(20)(=5) + 3(~5)* or better
118.75 or 1184 cao
4 60 2 M1 360+6
5 96 2 M1 72/0.75 oe
or M1 0.75x =72 oe
6 (a) 4 1
(b) 2 1
(¢) 1lcao 1
7 2.119 x 10® cao 3 M1 81500 oe
M1 their LB x 2600
8 113000 or 112795 to 112840 3 B1 for 85000
M1 for m x 0.65% x figs 85
9 (a) 530pm 1
(b) 67 2 M1 for 10h45min and 3h 15min oe seen
10 SE 3 M1 22 —6x
34o0r 5 Ml14x+6x =22+ 12
11 11,13,17,19,23 3 B2 3 or 4 correct
or B1 2 correct
If BO then M1 for x >10.5 and M1 for x <26.5
or M1 for 10.5 and 26.5 seen
12 12 by 30 by 42 3 B1 for 10 x 25 x 35 or 8750

3/15120
M1 \ 8750 (=1.2)
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13 | 686 3 |Mim=kL’
Al k=2
14 3 1 2 9 1 3 1
a =— q=— B2p=— andg=—orBlp=— —
()pgq2 P= ey =7 p=3 473
534574
(b) k=6 2 M1 for a correct statement for k e.g. BT or for
the factorisation 5 (5+ 1) =k x 5 or
L 5 + 1 = L
625° D625
15 | (a) 3 1
(b) 6375 3 M1 finding area under graph
Mi1dep all correct area statements
16 | (a) Points plotted correctly 2 B1 6 or 7 points correct
(b) Positive 1
(c¢) Line of best fit ruled 1
17 | (a) Shear x axis invariant sf 3 3 B1 shear B1 x axis invariant oe B1 3
1.0 2 vl O) kzoork#
or
® |, 0
18 | trapezium at (-2, —1),( 4, -1), (-4, -2), 5 SC4 for correct co-ordinates or vectors or matrix seen
(-3,-2) www with no diagram or with an incorrect diagram.
SC3 for correct diagram with wrong working or one
other incorrect trapezium which is not part of a correct
method.
-10
If 0 then B2 for [ ] or
0 -1
2443 -2 -4 -4 -3
Mift “BA” = Alft
1122 -1 -1 -2 -2
19 (@) 5 2 M1 f(2) =seen
(b) 3x*+1 3 | M1 9%*+1 MI(“9%*+17+2)/3 seen
3x-2 2
(© 3x M1 for3y=x+2 orxzy+2
20 | (a) 10 2 M1 x =—-4 and x = 6 seen
(b) y=—4x+50e 2 Bly=mx+5m+#0)ory=—4x+k(k#0)
ory=—4x+5
(¢) y=—4x+24o0¢ 3 M1 m =—4 or gradient=—4 ory=—4x + ¢

M1 (5, 4) substituted into y = mx + ¢
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